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Level 3 Economics 2024
91403 Demonstrate understanding of macro-economic 

influences on the New Zealand economy

Credits: Six

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of macro-
economic influences on the 
New Zealand economy.

Demonstrate in-depth understanding of 
macro-economic influences on the 
New Zealand economy.

Demonstrate comprehensive 
understanding of macro-economic 
influences on the New Zealand 
economy.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–14 in the correct order and that none of these pages is blank.

Do not write in the margins ( ). This area will be cut off when the booklet is marked.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

SUPERVISOR’S USE ONLY

Draw a cross through the box ( )  
if you have NOT written in this booklet

+

No part of the candidate’s evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining an NZQA qualification or award.

TOTAL 22Excellence





























Subject: Economics 

Standard: 91403 

Total score: 22 

Q Grade 
score Marker commentary 

One E8 

The response was awarded an E8 because the candidate: 
• completed the graph fully correct 
• idenKfied the Increase in C with examples and the impact on AD 
• explained the increase in skilled workforce decreases COP and its impact 

on AS 
• explained the increase in both AD and AS leading to an increase in Y to Y1 

being an increase in real GDP so there will be economic growth  
• stated the increase in AD was greater than the increase in AS so there will 

be an increase in Pl causing inflaKon greater than 3% 
• stated PTA (Policy Target Agreement)  
• explained that the Reserve Bank increases OCR and the consequences on 

AD to reduce demand pull inflaKon. 

Two E7 

The response was awarded an E7 because the candidate: 
• idenKfied the mulKplier and calculated the increase in Real Gross 

DomesKc Product (RGDP) 
• explained the concept of the mulKplier and applied it to the reduced tax 

scenario 
• referred to the model 
• idenKfied infrastructure as a government injecKon into the CFM 
• recognised that the injecKon in infrastructure will not have the savings 

leakage that the tax cut will have as it goes directly into the producer 
sector. 

The candidate also referred to the resource material and correctly identified: 

• the increased capacity and wider impact (G, I, T, further jobs, and Y and C 
ongoing) of infrastructure compared to tax cuts, which only impact 
consumers iniKally 

• that beUer educaKon and health care improve quality of workforce  
• that an increase in desirability of an area increases the populaKon and the 

potenKal workforce 
• the increase in sKmulaKon from tourism etc., the increase is ongoing 

The candidate also: 
• compared tax cuts, which reduce Government spending (G), with ongoing 

issues 
• for part (c), recognised that import payments will increase and are a 

withdrawal and therefore there is a reducKon in the impact of the 
mulKplier. 

• correctly explained that cheaper imported raw materials could decrease 
COP with ongoing advantages 

• explained that increasing export receipts could also improve the economy 

Three E7 
The response was awarded an E7 because the candidate: 
• correctly marked X 
• completed the graph correctly and marked the change in real GDP  



• idenKfied that the fall in credit spending caused a fall in C and therefore fa 
all in AD, leading to fall in Y to Y1, decreased derived demand for labour, a 
fall in Pl, and reduced inflaKon 

• explained an increase in COP and reduced profitability with examples: an 
increase in price level, so inflaKon and derived demand fall resulKng in an 
increase in unemployment. 

 




